IMANUARL PULLEY SET [6] 748 U2 #884356 M =% cipont

To be able to use the new ¢ N @
pulley set, you also need : . | M4x6

to purchase and apply the ' .
new front differential # 804390 and ' . . @
new sidebelt #804397 because the \,
gearing of the 748-TQ is modified. S @
_ R7
6x12x4 “-.
6x12x4
/22T
2.5x12 . @
.. R5
. ~
. -
M4x6 — 2.5x12
R7 6x12x4 RS




@

i @ /y 2.5x12(3)

6x10x3 Flanged @

~\

~
S

~
\~\
~
~

O M4x6/

Do not completely tighten the
M4x6 set screw till the pipe
spring is assembled in step 3.

6x10x3 Flanged @

2.5x12(3) R

'’ N
@ MID SHAFT SIDE PULLeY

Use 26T mid shaft side pulley as default. Use 25T
in very low grip conditions.

@251;26T

R5

Completely tighten the M4x6
setscrew after assembling the @

@ pipe svring.\

G ————————

M3x6

o |]
M4x6 2.5x12

R5




EXPLODED UIEW PULLEY SET [6] 748 Uz #B84396 =%cipent

804396
A 804398 opt
804396
804398 opt
804396
804398 opt

804390 Diff set fr 748 V2

804391 Diff set rr 748 V2

804396 Pulley set (6) 748 V2
804397 Side belt 40S3M396 748 V2

@ 804398 Pulley set low friction (6) 748 V2

3


http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804390
http://www.serpent.com/product/804391
http://www.serpent.com/product/804396
http://www.serpent.com/product/804397
http://www.serpent.com/product/804398
http://www.serpent.com/product/804398
http://www.serpent.com/product/804398

